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WHERE Ky, = E[ (2-EE)(y-€(0)T ] Anvo ky=Kyy.
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WHERE E(xIy])= E(x)+ KayKy (Y-E[Y]) AND Kyiy = Kx = Fx/ky f

THE PESIRED RESULT FoLLows IMMEDIATELY. NeTE € (eeT] =/ (vake k. 2
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LET g = (’z’] S0 THAT €(3) _E‘_]_; e [uﬁ%feﬁ
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THIS CHOICE oF A —o E(x']= E(x]~AE[Y] = &(x]- kxyk; ' E(y] ANO
Ky = Rx~Ahxy <y AT ARy AT = k= ey K5 ey

Now, Py(R)= By, (5Y) =Fx y (K\X)=7,(2') SINE DET[ﬁ ?]’ .
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THUS 241y (X1Y) = Puy (8.0, (%) = 2xiy (i'r%ez(r)zﬁ”z

(X'1¥)=p0(X'),
e o Pxiy(XIY)=2(X) SN X Moy
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SINCE  ky' = k,uy(aﬂ?meo nwe), WE ARE DoNE. 1y ]
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NoTE THAT i(x):e(zn kx'y k.,"(r-e(x)) Is ®EST LINEAR

LEAST-SIVARES ESTIMATE oF X GlyeN Y=Y . THIS AV BE
OFRIVED As"IN SYALAR CASE  AcTHoUGH MESSIER



